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SECTION - A/ - &It/ & - "1/ -~ WErl/& - W

1. For each question given below, four answers are given. Out of four, only one answer is
correct. Select the correct answer :

o dfotht o1 IfEbits See i wr | BIRTR fooes wa ubng uw TIT1 T
mﬁaﬁ%‘%@,m:

feoa ofsTB o1z vl s Sor oew g vEfbe foow wa gzt vF T34

BH $Bd QAU A6 |

TRt AR \AEt WS A B E L Aeaf wee e de e T
TRt s fegm

T fow T W% W ¥ fa 9r sw e e ¥ S’ A A e @ IR IR ¥ wE SHA
qf

(a) 10 mL of a solution of NaOH is found to be completely neutralised by 8 mL ofa 1

given solution of HCL. If we take 20 mL of the same solution of NaQH, the amount
of HCl solution(the same solution as before) required to neutralise it will be :

NaOH 5a 9B1@ 10 mL 9 HCl & Qb 8 mL Fofae ifirs aea1 af wifi
Q@ NaOH %a9 20 mL &8 (om @3fifq oifre sfaater =t HCl Taq (=i
IS QTF0T Tad) “tfamter 29 :
NaOH &34 10 mL HCl 5039 8 mL Fsj¢f@&tef o*Tfire ota | Tt Sat @3 NaOH
T 20 mL 7, S WS 4+ Ta1g Ty aTrsmi HCl 5639 (43T 7o 99y
".:FJ') stfamiear =3 : ®
NaOH Tfaara L @ Hel Tieera SR 8 mL 31 HE WS SEEn
9fz Sf T@ NaO 20 mL T A AW AL WeWHA! WA A
HCl nfaemafs e T wfeera) faaret s -
NaOH =1 L foead, HClL ¥ 8 ml faera ¥ gofa: seria @ s &) afg &
NaOH ¥ 3 faerdd 120 mL & &Y 38 KA 0 & fqe HCI % 34t famaw =t
et A =} IEvgsa et ?
@ 4mL @) 8mL (m)/l( mL (iv) 12 mL

(b) Which of the following methods is suitable for preventing an iron frying pan 1
from rusting ?

GA1T BT (iron frying pan) QA WIWGE 431 AT I6R IMIALA T @FIAET s

SIYT =T 7
GG ETIRa SIeTT NAE LA (AT T$1 FACS (& NBA @17 *Amholt SN 7a?

LT T YRR AR A Se e e Wi AEE W -
F % WEN 4 (frying pan) A i & w=m F fag = A F B @ fofu sw ¥?
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(i) Applying grease
M IR o
ot T T
T SRR
PIS RS G
(i) Applying paint
R TR I
T® IR FE
M A
Yz Tt
(i) Applying a coating of Zinc
T drerst
fses-9ag a fam
fa=f 9wt S
fSish ! Ta Tgt
{iv) All of the above
3913F FHCAT
SoEq Bt
Tl s
FR F T Q&Q
N

(c) An atom has electroni configuration2, 8, 7. To which of the following elements 1
would it be chemi similar ? '

(Atomic numbegsare given in parentheses)

QB 7 AT %' 2,8, 7 | BeR ANeNAIRd (FAGNE Bte XTI
IR ST A1 2

(T foogs i R fa ()

GG NG R R0 o1 2,8, 7 | vg i @A s 9a
IS AP W@

(3 fosw AR STLUNBET RO 3aE)

HITH TR Felag i TAERAE] e 2, 8, 7 | TRE egareRf s afa
THREAIR TR 4 2 (343 TR it 2 <)

T WA H1 TR foamt 2,8, 731 e ¥ forg e % iy swet o wa
M ? (T v Fres § @ )

N N@ (@) F(9 (i) P (15) (iv) Ar (18)
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Anaerobic respiration takes place in :

(d)

WS WA Heafto & Eﬁ A
TRMG ¥ eafbe 24 ¢
IR efafa giemmE saEal S -
AT TEET BT R
(i)  Mitochondria (i) Chloroplasts
TG wfare F'IUES
TR IS AT
Hrge "wivgame FoIU TR A
BT al § FAeRe §
(iii) Nucleous (Mytoplasm
TFEEFES BEATTO
[ QR [£ Tae ] @RI
faafafazam fafErgE
Hifvrerrhg A wifvepes o
(e) Which of the following disease is caused.due to the insufficient secretion of 1
thyroxin hormone ?
Terd (FARY (@1t "7 TAgE AfIWITs wae @R 9w xm e
ﬁ’lrmma@ﬁ-rmﬁ mﬂ@ﬂg@ﬁﬁnﬂq*&sﬁ—mmﬂﬁmmo
wwmﬁ@%wwwﬁmﬁﬁhﬁ urETy S ?
ﬁt{ﬁﬂﬁﬂ{(\@{ orRiferea gt o Sagad T W T S § A R ?
(i) Beri (ii) Goiter
[SISSIE] /:a?r et
wifaafa ST et
afRaft i
|- TiRrEt
(i) Diabetes (iv) Dwarfism
BICAfoR FONrTTsIt
gmﬁ-ﬂ 'aTaT-“'HT
AYAE CIEILE|
C3-51-B20-GS [ Coi{td.
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(f) If a cross is made between the plants having TT (tall) and tt (dwarf) ;6‘3“'35‘3
composition, which type of plants we will obtain in the next generation !

uﬁfﬁmﬁwﬁeﬂ(ﬂ)wmw(n)q@mmmﬁqmﬁmmw

DY T S (@FF 499 57, N7

afi Redftm sfigfy et (TT) wae W@ () T SMCRT W& AT oAl =,

ATqO! HAST 0T HWAT FT YA 5Ig A2

ft Tt g T (TT) ST TR (1) T Forhi ST SES ST SR STe

I 99 S W GEmia faw 9 ?

gfg @ 9 (TT) aen o e (tt)ﬁmmmﬁrqaﬁﬁﬁtmﬁﬁﬁﬁ‘@ﬁ?

(i)

(i)

(1)

(iv)

C3-51-B20-GS

Tall (TT) and dwarf (tt) both

&% (TT) H1F B9 (tt) FAT 4399

“§1 (TT) WL 4F (tt) 5] 49
TS (TT) 3 em (tt) Arell A@m
S 99 (1T) v A () I A S

Only tall

e 9d

el =Rl

At e’ \\g@
Only dw§g6~
e g
3 YLIA
el merad |
Fad 81

None of the above
89qq (FIAT 44932 F24
BHEA @A GAHIR AW
TS HAEE T T |
SR A1 Hg A T

[ Contd.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(6)

(g) Which of the following lenses would you prefer to use while reading very small -~ 1
letters ?

YT AF TF JrIEER Al o (AT (@7 IRTT FfEta fAsifar?

SR o frar erareRaE! FOEAl 9Er MEEE 8FF A 9" dumtt S aerEE
| ?

HEd BIR-BIE ALK =) Tga THY 39 F1 § |+ W A9 w6 F12
(i} A convex lens of focal length 50 cm
50 cm TFIR (i e (TR
50 cm (FIFM A TFeT (@Y
50 cm ' FHUEH T8G9 oW
50 cm RIFE G 1 T I9d A
\Eii]/A convex lens of focal length 5 cm
5 cm TR 4R ST @R
5 cm (@IFH (e Bge @
5cm$'$mﬁﬁﬂﬁﬁ@mﬂ=ﬂ
5cmm§{"f§§$§?ﬁﬁﬁﬁ
(iii) A concave l@%f focal length 50 cm
socmz@&\mwm@
Q
50 cm (TP, CATHA SIS (@
50 co % "HIH AR 1Y W o
50 cm IFE 0 # T 3760 o
(iv) A concave lens of focal length 5 cm
5cm$’3ﬂ5m@a‘®?{m |
5cmWWWW
5 cm ™ 'HTE AR TR T@e O
5 cm RIHH g 91 TF o199 oy
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(h) Thechange of focal length of an eye-lens is caused by the actionof the 1
734 5 e TR T v3a (e BURTR ChdE AT | 2
mmwmmwmm-aﬁmmﬂﬁm’ﬁm:

S M i et o A ST W SATEh S S ?
S SR F P g § i o < y

(i) Pupil (i) Retina
53 WY ot
ereE iy wifsds

(i) Ciliary muscles - (iv) Ins
;) |
Ry o 539 #et
& e\
Rt A > TR
D Voo
e . uftafan g
o
(i) Which of the following terms does not represent electrical power in a circuit ? 1

TOF (@A IR -Ephe wet ot ey - L

A5z @A AP Q@pfos ot Rt w03 =17

et S e s et s el fefiern 2

oot 3 & = |1 T2 e o frg v =) Frefon T A2

ﬁ,/u# (i) I°R
() VZ/R (v) VI
C3-51-B20-GS
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()  Which of the following constitute a food chain ?
SIS STEY T (FIARTAE@ I RIS 5107 I 7
frs Sfafis @ASET A (U S1oq IFE?

TeraTE @ A A weaa s et g ?
e B & 1 SRR ofaen 1 Fi F 2
(i) Grass, fish and goat (i) Goat, cow and elephant
qrz, MR AF R TSI, oFF SE RS
g, ¥ QI sl wstet, 51F 932 3fs
T, 71 3R =\ S, HE AR AR
I, WAl ad FH &, T a9 gt
{ii‘i)//GraSS, goat and human (iv) Grass, wheat and mango
qTs, eI H1F R g, (7 oe S
T, 7SI Q3R 97 9P, SIF Q92 Iy
T, S SR Ak T, TH 3T A
HTE, IR 901 9 =g, € a1 A

SECTION - B/9¥ - T - TR1/E - - "I
/ \@U /@ - e/

2.  Calcium oxide reacts vigor with water to produce slaked lime (Calcium hydroxide). 1
Write the chemical eq of this reaction and mention the type of this chemical

reaction. \Q

Q
wﬁmwﬁr\%@%’mmmﬁﬁmﬁﬁ%w@med lime) FEfRgm
WG TG BT (4 | 93 fefFamdr arnafas silieadaw: fre ore ffisardr oot
Ty 9

aﬂmﬁmwﬁgwmmﬁmmﬁﬁﬁam(slakedume) HreTiTEmT

TGERE SeAT I | 9} Rfeaifta armafore sMeaafs @ gae it o
STy T

mmwmmmmﬁmﬁ@ (slaked lime) FeIfaam T 'FuRs
msammﬁmmmmmmw@mw.

mmwﬁmumﬂwmm@@ﬂj(mm
) &
frmfor & 21 wawfvmmmﬁa;wmﬁfawaaﬁﬁm%mfaﬁm?

C3-51-B20-GS

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(9)

3. Define allotrope of an element with examples.

HIRAIE PITS GNe1 DR ‘Tz’ (allotrope) ¥ i@t ferdl |

Tz 9Ffh AN ‘T’ (allotrope)-9d FLBI 0TI

fafafersti TN AFAF " (allotrope) f1 gwRfy fa!

T& IE @l Weradt A e a@ #°t m(aﬂotrope)aﬁmm'

4. What is Catenation ? %_}é‘g_lgl. 1
@OE@es 316 QAN ? ﬁfgﬁ :
AT IE ICT7
foafaen W 5212
5@ (catenation) fFd Fgd €7

5.  Why are traits acquired during the life time of an individual not inherited ? 1
I %, SraATIeTs SIS 341 SRS B/ o Fefora ITTTehreld [ aalfzs
247
@G SR SwT 30U Sfewe! bfafas taffes e ae9sfs sa A6t I A1
A7 '

PR i SRR fEerE! 1Ra @y el a2 gum wm srfsama s ?
T TS Sa g ST e gre: Sl Wl § Surga T8 a6 €, i 2
6. Why do Stars twinkle ? 1
oa1x feafaany fea? Qg%
wiat et s@ @F7 \
el we ffa- R 2
m‘(aﬁﬁqﬁnﬁ%?$&g
N)
7. Translate the following statements into chemical equations and then balance them. 1+1=2
wed SReTyz IPTRfAE AN F9fs foryr o FAgeH w4 |
eva Shpomz armafas eI A @Y 932 G Il
Treraf gferd TEEAR FHAES fag SR ¥HEyg e |
e FaE &) gaEfTE SilE F wg § uftafda 3R ggfom i)
(i) Hydrogen sulphide gas burns in air to give water and sulphur dioxide.
G’ (SH REATIRE IS WZS (7 A AF FATE TR THRS ¢4 A |
FRIGTSA HATIRE IYCS AiEE A ST 932 O TIZ SHBT SCF FE|
TR HAERSS ad @AM & AR HIAHR SRIFARE Amfaeral |
MBI TePRS 19 F19g § o7 T W 96l U@ Fol SRS o 31
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(i) Potassium metal reacts with water to give potassium hydroxide and hydrogen
gas. :

BRI 4w AT oo RfEa af ok PRYAEs s 2GS R
eoF I |

S 4Ty St e et s ADFET IGWRT @I PRGITSH A
Seow F@|

GeIferar wrgen $S RESIUR S TR TR HES SR €IFS S 1 wHisE |
Wfiran uig S@ ¥ wre AGED F0E I FEeieaRs T TRgeH 19 Xl ¢

8.  You have two solutions, A and B. The pH of solution A is 6 and pH of solution B is 8.
Which solution has more hydrogen ion concentration ? Which of these is acidic and
which one is basic ? 1+1=2
TOMTY ZT56 A W% B 40! 57 9% | 57 ATpH TN 6 WF HI BT pH I8 | (S
39S 232G (TF ST Aot @f%7 @A i WE @A SR 2
TSMIT XS A 932 BAf0 53 ®Itz| 53 A 99 pH -W3 U9 6 W3¢ %9 B 99 pH -99 W17
8 | B Wit TAHTSH WWHT SMipel @F17  @FG s 93e @G FEEm?
i SrEREE A 3 B AT e € | ferera A 1 pH f1 ® 69T e B A pH
AFI 8 | ATS TfEead egg SA St @rwityan difeq 2 mea wirgenf sm) g ardai ?
39k I < faeram A7 @ B ) e A’ F pHEN M 6§ T faead ‘B % pH 1 HA
8% Ty faera 3 wesiom omaa =it wiga eifas 32 =998 @ 21 oneiig & 91 1 ey ?

9.  Draw a cross section of a leaf and label it properly.

@ﬁmwmﬁmw@m%ﬁﬁﬁn 2
(G o e S 98 @it Swera ffrs @t "

T faamft TR ™ ElcREER Rl

Toh T & TSI 91 F4ft vl 1 e

N OR/ARa/Srrat/ AT/ e
Name the greeﬁots contained by the leaves. What function do they perform ? 1+1=2

Jifos I CrEST R9@ieg AW forar | Witane & a0 oty w7
AR AT g ISR AW @I waE! 5 e awfq a@9
foremmgama o i wUERR | fat . SmR w @t T ?
ofedi § 7@ SR @A & foigell w1 W a3 e wE w0
10. How does muscle cells change their shape ? 2
THIRIIE FAWE o) Ipfo iy T 7
I Fem o) s *fimdT w7
fafa fa=fea TE af7 quEE) 99 2= 2
Yyitg FfeRd FA 0 I F wfads st §2
OR/Af%at/ St/ wan/ et
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What is the importance of iodine in our body 7 z
TR (TS SAGAT aFg 757

WNITR TR SAfermg gy $7

S Hieia Arafefs Mifern = ?

TR YRR § STEH &t 9 savasal 82

11. How reproduction through spores is beneficial for an organism ? 2
W 71&t IS FAMOT @A 9F TR A (@A ASHIE T A7
WIR =TT IS 41 (@A 9T R Ty Foied TASHIE 200 AM?
T T EeR SRR WA WA B faft e w1 S e T S e ?
Y] GR 9 § St ey i 2 & 2
OR/1%31/ D4t / T/ A9aT

How does Spirogyra reproduce ? 2

=R SRR, (PN ILTRBIY S ?
= IRCAMIRAT Frord I F?
TR TR WIE PR iea ?
TR fFE YRR S S 2

12. Draw the ray-diagram when @ect is placed at twice of the focal length of a Convex 2
Lens.

NS
@@amaﬂmﬁeq@ﬁmaﬁrmaﬂm @Uoa SHT BT

93 S W%ﬁ@qmim 93fs TFRE @ Gifbe @uifoa wwa
AT

T = TR TEF F R TR WA AR ga SEA 9 U1 Il i |

fordt 3@ e gl o wfafsa 1 faror s faf wifee, o1 o o § e @ A A
T W feerd B

OR /AT / Srat / TAT/ 312aT
Define power of a lens. What is its S.I unit ? . 1+1=2
(TR Ao AL fordl | RWR S 933 57
- 99 TSI AL (@4 9T SI. 9T Y
o1 M gerfy fag af .1 wrfear @ ?
ot <ig #t arman A wftwife ®if) Saet 8.1 e | R?
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13. A current of 0.6 A is drawn by a filament of an electric bulb for 5 minutes. Find the 2
amount of electric charge that flows through the circuit.

aBt tagfoT a1eT StaoTEt 5 WG SIS 0.6 A 937% 7T | ISANBHs Bifets il AT
ryte AAfarer Sferaar |

W3t tapfes A= o 5 MHG T 0.6 A 23R G| IGANbre ifeTs 26T Ao
ST “AfmeT @@ Tt

Q4 Aifsca SrewfT AR 5 fafe T 0.6 A Tifsa SRR o™ | SieAuRaE i it
it faei fega )

forelt forega o= & o ¥ W 0.6 A faga R 5 fiyme o= wenfega @t 1 fogga aftey | yansd
faga s 1 vftam 3@ =i

OR/A1%31 /ST /q&T/ 34T

How electrical charges flow inside a wire. Explain. 2
AR WTIT foses @pfes s @@is o9t e BNt 320
935 ARRIRR foet Epfer s Fere oifs 7 I F@l
&7 3dfF i e arfen et Sidd - 389
forit fagra wftoy & faem emdw 32 vanfed €1 €2 3ok sifaw

14. How can you help in reducing the problem of waste disposal ? 2
CASTATAT SIS AT I BRATA iy & Amcwet 55 3Rat?
'aﬁamwmm@%ﬁgﬁﬁmﬁmmmm
S AT Sl T AT 2R
mmmﬁ@mmﬂwﬁﬂmmm%?

15. State two prob Qauser:l by non-biodegradable wastes what we generate, 2
o o w1 S et e o[ @@t 55 e SoEr T |
SN 3R a1 SR SfFFac smfaen @ wear 5t v Sty )
I G faasnft dainife sfwrfoea sm 9 Samet T
Tt < FE ST ST g I oty Frefiaia veel g s at ¥ )

16. What is the role of the split rings in an electric motor ? 2
pfew niee wort Spfa G fr
agsfeT @@ @ 3t &A1 S et 7
T Hifsers geua feere i @t m?

ferega et 3 a9 9E@ (split rings) %t 7 yfirm &2

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

281257

(13)

17. Take a small amount of copper oxide in a beaker. Add dilute hydrochloric acid slowly
while stirring and answer the following.

QB RS ST o1 SR A | R e X1 SIS SR a1 o1 TR
xS @15 F41 H1F Tovs gt eratas So9 4T
935 RO TEp1ear o1 SRS A1 Rt AISItS A6NS Gifbs 8 B &g
RGSRS BTG @rst star 93e oo cisar 13T T3 FET
T fara TR it s s W faeRE WEEeE 9 a9 il w S
T3S ‘&1 T e Teieet ol TRETE €A SiaeRid fRa @ |
e fast § Ui T i ifeare SifT ) faet 9 feema gT 36 HR-Hit 9 TR
o eifera | ara e wel & IR dfs)
(i)  What is the colour of the solution ?

HA0R I801 57

Tafoa ae G 7

et e = 2

s s }? :
(i) What has happened to the copper oxide ?

F'oT IHRGe & qaftrg?

T RS I TCOR?

FHIR STFITSNE H UG TR ?

I TS 1 7§31 ?
(ili) Write the balanced chemigal equation for the above reaction. 1

asigq fafsandr IR © (balanced) IHRAE AT o4t |

oz e © (balariced) FPTAME TFIAT o1Tar

Tisi fn [Y TEEATR gHAYEE! ot

ERLiE rmm@ﬁrﬁm ¥ fore & Hafem wamafas aetew fafau)
OR/«1%31 /ST / T&T1/ AAAT

What is brine ? . What is the product formed when electricity is passed through
this brine 2. Write the balanced chemical equation for the above reaction, 1+1+1=3

3139 FIT @A W2 IRAT SR PR A0S FRe B o Seom xm7  gofaw
fifFarte 31w 18feTs (balanced) IFAAT FRIwa<t forar |

IR IS IET? 9} IRER 94 P fagse eifRe sare S o Seom w7
o fafrafoa & TefeAS (balanced) ammafis ffeaaft @mrar

A W g2 A A el e e diddeen m g St 2 i
fRrnuRERi yrad Ty TEEaR gamaEE) o

a]s:ram%? T 91§ faw vanfed 0 W o sa= Q€2 3w srfvfra & fu s
wafer TEmafe gt fafea )
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18. (a) A solution of a substance ‘X’ is used for white washing.

Bt #mr ‘X’ T 5aF 351 18 AL (white washing) IZIT F4T 27 |

PO T 5 ‘X’ WRAW G0 TIT IRRE ST R

9 X’ 1 feeEE! TR TE e SR S|

et v ‘X’ ¥ e =1 390 TS +1 ¥ fow g #)

(i) Name the substance ‘X’ and write its formula. 1
oy X T AW JF AUFS oty
‘X' FHOI A @A 9L GBIF FUFS @A
X g § AR 9w fox
< X 1AW a9 g3 fafa

(i)  Write the reaction of the substance ‘X’ named in (i) above with water. 1
AT TTTS (i) © Sferfis el ‘X’ «@ Fat f¥feFans: frar
X wf5R (() 9 Shafie) siwea s Rfeafs e
(i) 3a AR X HE oS ) o)
9 (i) ¥ @ = ‘X = 5@ F Wy sfufear fafan)

(b) Identify the substance that is oxidised and the substance that is reduced in the 1
following reaction.

o Rfganire sifve o fonfie agar g e )
WWWQ@{W%QGNWGWWWI
mﬁmﬂmﬁa@wmmwﬁ@ﬁmﬁwa
Firen s § 3TRTAR qe S el A T H
CuO(s) + H@\Q—) Cu(s) +H,0()

& OR/afey/ St/ g/ s

(a) A shiny brown coloured element ‘X’ on heating in air becomes black i
Qo lour.
Name the element ‘X’ and the black coloured compound formed. e 0m1+1u2

QBT S YT IS8T AT ‘X’ T IS 1AW 4TS AL 3 AT | OTT ‘X’ 1% Geog
CRIAT T 6T ASIOIT A1 forat

qﬁ@mfmmﬁ@a'x*-@mmmmm T et ‘X’
932 BT 33U I J0eT TN AT ETTan)

= Tl g A e X @ aRe S ey e e x f
SR WA i ey gt get | X

TF RO IHHER T X’ Ay H 3qfes F ) @ '
T A X 0 30 IR & & i 551 AW w@w) S B
i.

C3-51-B20-GS |
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(b) Why do we apply paint on iron articles ?
T IS 89 A<t fg e
I SR e T 4@ @ @ W7
TTSll S A SRR T G WA A A 2

<% T F e Yo A @ 2

19. State Modern Periodic Law. How could the Modern Periodic Table remove various
anomalies of Mendeleev’s Periodic Table ? 1+2=3
SR AR St | SR e o arefred igs sifers I
SeMRIERR e T afafie?

STy A At AT SRS g el crafeied fige ST Al
wFioafd fee 53 sl
e SR Eferat for | T ST o e e ST o R T - T
HISI @Al SRR ?
anyfs e Fam FME? aﬂgﬁammmmmﬁﬁﬁfﬁtﬁaﬁaﬁﬁwﬁﬁ
fafay fagnfadi =1 R e mn?

OR /713t /=3t /TET/ 37T
What is Newlands’ Law of Octaves ? What were the limitations of Newlands’ Law of
Octaves ? 1+2=3
frSreiaRT Wes Jat 57 fFrreed g Jam Mndmor & & ofier?
FroaTSs- qaa%{aﬁﬁ\%@{-ﬂaa% @ Anrmerafa § e
fraciusaf sy ﬁaﬁmﬁ Fehe M W4 S@EHEA |/ | T ?
qﬁgmmme qﬁz%mmﬁwm%?

20. What is Pollma& ? Is there any difference between pollination and fertilization ?
How does self-pollination differ from cross pollination ? 1+1+1=3
statstTarSH 157 WWWWWWWW? - IS 25
- sAqtetcarsd. T (@TAReE Rt
SIAISITATSH A7 SIS 932 FAEBER WA @IAT Ay g T 7 -8t
Rod RSS! (@ (PPt 7
FOE AT W2 SR A AR A SRt e WS wRm g2 RiaE g T
AGRET IS g AR HIE BRET el ?

T T S 2 g fnan IR e § 1 fuma ¥ 7 @ fean s fiea R e
¥R firr @2 '
- OR/Af33t/=4at/ e/ ear
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How does menstruation occur ?

AgHE (AN HAfve W7

HpbF e Aeube 27

WISTEET A& A4 ?

Fgee 3 Tl S8 a2

21.  What factors could lead to the rise of a new species 7 Explain. 1+2=3
T abt dufer Sevifsr srar B 5 SomT ez eI it 4T |
Agd AT SR 20 oy e 6 R weE? - AT |
RN RAART AR T g St e 2 $E@d |
3 A FRF § N T wenfa F 3w § gEEF A9 & 2 0 FC)

OR /7123t /SYJT/ U1/ 3T

What do you understand by geographical isolation ? Will this be-a major factor in the
speciation of a self pollinating plant species ? Why or why not ? 1+2=3

WrRreiE @Al i JRne 5 o 7-oRuIEnst 901 S aefs o IR ]
ARSI QBT I IS T'T AR ? By S 31 fa&r @ ?

SIENfEFeid 26T 4IFTIT e F @A 2-Fers 961 @t Sl gofsg
mﬁmm:ﬁﬁw@mﬁﬁm@wmmﬁ? @ YT @
7 N

TR 1 AT e g 2 B R e A e Wiy e ST
wﬁwmﬁ@mmw? TE! el WET S ?

s QAT R 1 T €2 T i gy S e % e % s
ICHA F1 W@ FRU B GHaLE 2 F a i A ? .

22. Name the parts of the human brain. State the activities that are controlled by the
cerebellum. 1+2=3

e TREFE SR AW fordt 1 oofataeiig anat fafas fameennmgy ave @

NS TR TSP T @4 Grfegenon arar frafie fearsemys e
AT

wrfaft femf aRreRi 4 for | AfEeamsi smeamsmr memieEt 389y
e AR & W W fafan) sqeeres g frdfia st @t fafa
OR/1%at/ =1t/ qan/ et
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What is auxin ? How does it aid in the growth of a plant ? 1+2=3
e &7 QTS 5%q Yo X (SRR HZIT TS 7

wfET §7 93 g Iface off Prer s FE@?

A WM ? Fid fawi e T gEl qeg T ?

SR 1 €2 a8 UF ey R gfE F HA Herdsh A ¥ ?

What do you mean by Dispersion of white light ? Draw the ray diagram to show the
dispersion of white light when passes through a prism. 1+2=3

M (A1%IT Rogaer areA fs gory Piswa @t it ¢oread fmgeas afafea S 41|

AW SR Awgad I § @@ oo ww s sie fvgacrw afifba sEd
FAl |

TR AR AR g Yean W g ? firsmft < TR SRt AR i Jemi st |
W TEE F fRQqn 5 wee w7 &2 Fiw % o gr vy w1 Eden w1 fm
TR |

OR /f%at / wrat / TaT / 3wrdn
What is Presbyopia ? Draw the ray diagram to show how Myopia is corrected. 1+2=3
ot f57 Aot piRawsis wrneq orya® $PIta S1ee a1
oAt §17 At gfeaserd ST (i aftiba SiEA st
YT fagm | ? @Tﬁﬂﬂ:@éﬁﬁmmﬂ@ﬁﬁwm@ﬂmm anf@ i
ST gugfed 1§ ? R 9 % Fe H fear ge O R e R
Write the S.I. unl@%esistivity. An electric motor takes 5 A from a 220 V source.
Determine the ;@rer of the motor and energy consumed in 2 hours. 1+2=3

@4Pa 5.1 WIS foTan | @B apfed NHrE 220 V SS9 A1 5 A 9% 5 | WOICDIR FHS!
F 2 TUG 3 30 341 15 Sfevaat

@H@T S1. OIS @CdTl I Ipfes (10T 220 V 3¢ (ITF 5 A 9431 (781 (nroafoa
el W32 2 90 «ft 3w T4 *fe @ F@N

Torgaii Faify .1 AR fer 1 1 wifsera weu W 220 V ARAME™ 5 A ST @
T MR R 2 92EE 99 SEEE aEn i) o

yfefigehal &1 S.1. A9F 1 €2 @fa-gaﬁzt 220 V % foem 9 A 5 A R uma o R
e #1 wifea fAvifa o aen 2 92 7 A gR Iugea o witsfam sifsw

OR / %3l / (AT / Taw / 3t
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What determines the rate at which energy is delivered by a current ? An electric heater
of resistance 8 Q) draws 15 A from the service mains 2 hours. Calculate the rate a;+2=3

which heat is developed in the heater.

a5t e gay qeT g4t i 319 fex Brela w@? 8 0 @vg bt apfed FeTR
2 95T BIelts (W3AT #1115 A 2918 &1 | pailbre ot Besia cgiat g9 Sferaar |

93f3 gfss dar s @ TREd 77 e fmem =7 8 0 @ 9F it @pies
5o (A0) 2 951 veite (3R (TF 15 A o1 @¥1 perfoee (RDR) o1 Sesid 23T

314 (3 FEAT|
A difsea e B iR B FE B 2 deY Aifsed gem srafy duren 8 Q 34

2 TS T G 15 A Rifsa <eR S el | e adei e fag shraret g |
forea ware 510 €S 7 I @ et frufor F@ A R 2 8 0 wfikiy w1 i forega € faega
H /29 7% 15 A fagm wm da ¥ @ A 3o I 9 S aitewea FifaQ

25. Explain the main principle of an electric generator by drawing a labelled diagram.
fofEs fbux saws bt @yfes @uamtes ge1 fifsg aray Far |
fofes foram simren «afe taqfiss matee o fifs am s
AR T G W SfET T s SAed e wfnE @y |
i @ W fdt fagd 99 (generator) 1 & firgia e Fifem)

26. Can any sources of energy be pollution free 2“Why and why not ? State two limitations
of the energy that can be obtaired from the QOceans. 1+2=3

W@qaaﬁrﬁwqq@ﬂ\\ 2 fm e 1 Ty e wEeniER et e sqt

T 751 Mkt BT

aﬁﬁ@qqﬁ@m‘@@mmﬁ? (A 9T A @ SN AT NIPTE (AF 21
|

i T e T A T A 2 S ) 2 Qe
Tl gAg afwf [ famrar fod
waﬁémzﬁamﬂaﬁam%? H 3o 7 ? TR} W 2w T
FeAiail 1 S Han Fagu )
27. (a) Name two metallic oxides which dissolve in water.. 1
mﬁ@ﬁ@mﬁmawIMWﬁmlawﬁCym
ST TGS 20T Gf6 U SRTST AV @A |
<4 TfedrE [ Uiy srREe § fm
<t 4 faer 9 el & arfamsst & T fafa )
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(b) What chemical process is used for obtaining a metal from its oxide ? Explain
with examples.

TR A3 Ty Seomy iatal 5 apiafiss orafs oA 341 W BAITATE G
ERENEGTIR

mm%@ﬁﬁmmﬁmﬁ%ﬁWﬂWw? NI R I EY
YT AT

Wuﬁ@ﬁﬁm@ﬁmﬁﬁmmmﬁm@ﬁawm?ﬁﬁﬁu
AR G4 |

%ﬁmmﬁmm#mﬁmmﬁmmwmﬁmm%?
IR0 ST FUR T |

(€) Youmusthave seen tarnished copper vessels befng cleaned with llemon ortamarind
juice. Explain why these sour substances are effective in cleaning the vessels.

Wﬁﬂ$ﬂﬂ%ﬁ{ﬂ@tﬁ(tamrmd)wwwmﬁ'w
R | SAtafiers sl SRAE GeSToRr I8 5 IR @ o fordt

fref A A1d @ 1 Spter P fw AfaEa Fare @MW 5T T |
AT AFTT TICE DFSTON I8 (4 IR IAT 3 FRATT @0
ﬁwmmﬁwwmﬁmwwfmwﬁﬁﬁmmm|
T GaATRR S AR AR TEm T 3@ |
Y A & Al Fdq W 7739 & @ q WIE S G 3@l T 7 Gg 98Iy
aE B WIE F TgG yurE ¢2
$Q\Q%or-:/aﬁ'z?ruwmfftraw,famﬁw
(a) Identify ﬂé%nost reactive'and least reactive metals among the following : 1
5o75 PRI NISE “a1 S15i3ed @R AET (most reactive) JNE HIORSLE IX
sfeg graE BarE w41
e BTET (A TG @F1 ARFT (most reactive) €I FIIE T AT
g BT FAE Tl
TeTar SRR TRRFTEE Satgg St W SR safigg T g agwrat
@M |
ﬁqf%lf@ﬂﬁﬁﬂﬁ'éaf%afumﬁﬁaaﬂtwﬁwaﬁﬁﬁmﬁamﬁﬁmﬁm

Al K, Cu, Au.
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(b) Define the following terms with examples.
TAIRATNE OTTs BeTe AT e forat |
SHATR fAEF Qe 78! (¢TAT
fafefersii memaE SRt gErfy fan|
IR T Frfafadl st aRam fafaa
(i) Mineral

afirs

(i) Ore

TG .

(c)  Explain electrolytic refining used for refining of metals. 2
4IQT ORI I Iwzs Rpe AfReme *rafswr Tt 4t |
HIRT CTIAT Sy Az /iR ATy st s )
UIeRF Tl e aeE S s fafe it st 389 )
mgﬁ%vﬁmmaﬂﬁqammﬁwﬁwwﬁmmmhﬁm|

28. (a) Draw the structures of the isomers for butane (C4Hyp) : 1
(C,H,,) faStbe mﬁk@a SETAFS BT |
T (CyHyp) TET_STOH T2 Td® SIS |

ﬁmﬁmw&_’h QI FOeN anfaE |

T (C,H, ) [ it wreATd fafim s

(b) What is substiftifion reaction ? Explain with example.
Afswom PP QAL @Wmmmwl
AR T BIE JET? '@ﬁﬁaqﬂ}:mw|
rTERe R 96 3912 fafsfat e
e sifufihan o &2 e S Al wif

() How would you distinguish experimentally between an alcohol

acid ? and carboxylic 2
WWQW’&@WWW@%@W
IR FIITTS QT 03¢ Tlfrfor e Coga
Wﬁﬁ%wmiﬁw%;agmmaﬁﬁm T o O g
. RASARIEAER 2 NN
mmmmﬁmmﬁﬁmﬂm%)

ORIW/W,'@/&W R
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(a) Draw the structures of the isomers for bromobutane. 1
T RETR riares s siswws S |
WIAREEE wanftaem s Jews @
37 fose T WM seTafoId T Wi et |
A & e F1 s fafa St

(b) How does ethanoic acid react with carbonates and hydrogen carbonates ? Write 2
the chemical reactions.

T Wfes IS T TG (OF SIdADT Fere e fafear s Al
fentae forar

R Snifite FIFE0 93 JAGITSA SREET wu dreid Rfew Fw@?
artafas fafraaEt @
TTfas Ui FEEE R TRed el AER REeeE wem?  JEEEi
TrnaEeE! for )
Wi o FERE T TR R § R sfifEm Wl YY) e vt
gt fafag |

(c) Explain the mechanism of the cleaning action ‘of soap: 2
BT 9fet Sife@Eid dfedl (cleaning action) AT F47 |
SANAT TFeTl sifax i AfEFmfG (ceaning action) T[T FAT|
mﬁqﬁw@mﬁ@&f
mgqaa‘tmms‘maa\ Y gaEEe |

29. What is ‘Biological ca ? Name two such catalysts. Discuss the roles they play in
our body. What is ction of the hydrochloric acid released by the gastric glands

into the stomach 1+Ya4+15+2+1=5

‘mm@ﬂm%ﬁ:? QT H0 U0 A ot | S 18es Q@ o7 w4t
i SCEToAT T AP T AFEAS HedfTe @ar TRy e afree s 757
rod SEOSSRT 17 A% 70 ST TN @At SR 18 Qs gt
G SICEATHAT AT | AMEafEa T AeEAlte Mo zem PRgERE sifnes
T 7
fganil YFTEITERT |12 Safe J gveramt g fatl i deiie Serf sreae
fapraty AR WeRE | Mg fdEersE arrE AR I T i e et
a7
S o 1 €2 T <1 Sl & W fafan ) sar iR H gt yfeed w == #{)
aprera s fufa # Iafea e wfEl gro anfan eRgEeiieh e =t o1 & § 2

OR /7331 /=24t /T&T/ AAEw
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How is food transported in plants ? What are the differences between the transport of _
materials in xylem and phloem ? 1%f'l‘li—s
v oxe VMR (TARE AT N 7 tﬁmwsﬁ’mmwﬁaﬁww

f&7

SRR o AT Heqxd SoNT TB? SR QI GRIEW HEE Al arfaafe

N F 9

TGH S AT T S ? e R TR Jarhit ezt SR EReTRr A w2
et B et 1 i 9 O 7 SR qun ey B veref % e A Fr af # 2

30. An object of size 70 mm is placed at 27 cm in front of a concave mirror of focal length 5
18 ¢m . At what distance from the mirror should a screen be placed, so that a sharp
focussed image can be obtained ? Find the size and nature of the image.

18 cm T'IY (THA Ao ALAH Q¥d VG 27 cm T4FS 70 mm HHE9.I8 9T I
TR AIATTYAT at A ETS M QU T Bio =B A5 it Afsfaw «by
cofrar Iy Afsfer arer e 93fs AT war o
18 cm (@1 0T W30 SRS WA AMEA 27 e FALG 70 mm HINRT 95 78
Y AR 7 A F6 GA0g 9F0 A e Giftre =APend S84 38T 9T
dfefe® wmaut o177 afsfams snem w3e agfs fFdfy s
18 cm F TR THYRTIAI 114 Tcid Jrfa fomeTa 27.co T 70 mm T @) [t
T afEara S | v waE e arar et S S8t e ?
WG 7R A smgea fug | "
70 mm e 1 ¢ 64 18 cm PFE T F FFeh e <0 F W0 27 om @ W @ B
T A et g W et TR 91 T2 ¥ 39 W o 1 T Rnfga e W e g |
uﬁﬁa’mmawmm\ !
. _— @/wawmwm,
concave lens has i H
lens be placed §1t fogrtn}':soansi ;n;;gggf?gtcf;s}:gﬁ St?xﬁultin;hg'og.]ﬁscc: f;l;glgll ::ng ]
magnification pr d by thelens. What is the nature of the image ? h
SO ((THZ 44GY THE 75 15 cm | (FHARYAT KT RN g wvwaE 9By g
TP TS B AT 10 cm @IS TR 95w bt o157 afdg oz | o7f, Tme
ez Rt fref vt | oifRrct egfs fng T
VT SJAGE ETHA, @D S 15 cm | (@G QAT TS 72 tﬂ-a‘ﬂiﬁ@ -
mmmmmcmmmﬁaﬁﬁﬁsﬁzmﬂgfﬁlgﬁ m$
28T R Ay s afsRafba agfs 9 | '\9_
T GRS A<M F'H TAGRA 15 cm | ﬁ%ﬁmlﬂcm.'lﬂﬂﬁﬁ 3 T ';h-qfa-a—.hm
ey feg 1 wraaEf smgurga w2
ﬁ@m?ﬁaaﬁﬁm{ﬂﬁcm%lﬁﬁﬁ@?ﬁﬁﬁ@ﬂ?@ﬁ?ﬁﬂﬂﬁa%
?uﬁmcmqﬁwsrﬁﬁaaﬁ? <19 BT S awandA ot Jra e fafds ) wgfa =
?
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Give two examples of Fossil fuel. How can you as an individual contribute to 24225

management of :
Wary X% 701 Swrmae i oW SR R ReTee
Sar TR qf6 Swgga w1 wFsA s e T
g WA AT A fafefe @1 wr woeeen 99 fear-
SHareet 349 F 2 Feewm S mmﬁm#mﬁmﬁﬁ%ﬁﬁﬁwmq%m
%2
(a) Forests and Wildlife

I I AR

9 Q3L ITATN

T 3R SRS

91 Ud a9 g
(b) Water Resources

TETR

TIETH

2 g

el GEA
AE SRS @A ¥4 IAYAAT TG 717
TYCR B P 43w IR g e
ﬁ!ﬁmmﬂ@qﬁm@mw;

@
Q&R/m/quwm
What do you me&?luwater harvesting ? Compare the traditional systems of water
illy areas and plains. 2+3=5

harvestingberw%

AT FBIT AA 1$ ST I DA FE TGS ABFIF OIS AR A\
Tafod ASe ot F4T | _

T ABIF W 2l A QAR? AT HHeT A2 AT ABIAT AT~ ST FHAF
Tafod W5 JeTT FCAT|

2 AR geiEm W gi9E? TSR S AR TR SiEE faaeeRE s T
faanfarrs 2 Srgw faaf-aerat o)1

el WUER & I 41 T § 2 vedrg & iR A gnl ¥ 9o duew # wielE ggh a6
T Hif

-000-
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